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[1] a) Simplify the following [6] Let P(x) = x3—5x2+3x+9.
44 — 3(3 —2(C -2(B - A))) - 4A-3B+6(c-2B +24)|  a) Findthevalue P(-1). p{-j)= —[-5-3 +t91=0

= 4A —3B +6C —12B 1’{,2’/1{:/(5/4»-/5? ‘/’66 b) Factor the polynomial P(x).

px)= X+ ) (> -6X+4)
b) Let 4 = a*—ab-2b?, B = a®—2ab+3b* C = 3a>+4ab—5b>. = (A1) -3)"
Simplify the following.

= 3(B —2(C -2B - A))) = [6A-15B+6c Express the following fraction of polynomials as the sum of a

= (6 ( & —ab-> b‘ ) —15(4% -2 4bt3 Vs ) + 4 (5 at 4s 5,5[‘- polynomial and a fraction whose numerator has a degree less than
its denominator.

= /9a*+38ab —1076" N3 P
Expand the following expressions.
, 3 2_x-1 5
a) (Ba—2b)= 270>~ 54a’b +3b6ab> —£b b) X_x_"_s_= A+ 2 *;TZ

b) (5a? —2bc)(3a® — 4bc) = /5—‘&-%'—2é&zb (& +<962C,L

: Reduce each of the foliowing fractions to its lowest terms.

= 2, -
¢ PH+Hx+DE2-x+1)= (X +x)(XH]—x) (c2x2y) *89(6V3 _ -
= (X*+1)2=X* = AV p a2+ | D CayE - g xb 94 17
Factor the following expressions. - 2x2y2 _ X 4
a) 3x2—4x—4= (x-2)(3x12) ek b 3Xx—24

b) 4a*~12ab+ 96> = (2a.—35) B-0  G-bXC+abtB) _ Qvab+b

o 18x2-2y*= 2(4)F-4*) =2(3x~Y)(3xty) ) Gap = O (a—b)(ath) alatb)
d 273~y = Bx-y) (424324 +Y>)

(8] Simplify the following expressions.

EI Find the greatest common divisor (GCD) and the least com- 12x X

. . a) = 2xx% = 4x°
mon multiple (LCM) of each of the following polynomials. 3 3
X

a) a®b3, a*b*c., a*b%c?

2xy?\  / ay 2x4%  [_4x- 3
GCD= 44> b (<25« (-Z) = - 22 Gy ”’—252-
LCM= g¥p*c*
b) (x+ D(x-1D32 (x+D*(x+2)(x—-1) '
GCD= (X +I1)(x—() 9 x2—-x—6 +x2—5x+6= (K'B)(Z‘I'Z) (%‘4)(7("‘2.)
LCM= (7(+')z(x_’)7—(x+z) x2+4x +4  x2-2x-8 (+2)* (7(—2_)(/'\'-—'3)
X4
[5] Using long division, find the quotient and the remainder. T ox-—2
2 _p2 2 2 | 2
> a—b"  a*-2ab+b a*b +ab
174X+ 1 d) @—b2  ad—athtab? \ ad+b?
2xr—x—1) 2x*+x3  —~3x-3 _(A-b)latb) a(&-ab+b*) x_‘Ab(a'fA) o
2 X =% 3 (a-b)> (a-b>* " (atb)(a*—~ah+5)
-32
i;(’j;(’»z - 4olats)
2N*=2% ~3 ' €025
s T b—c c—a _a-b_ q(h-C) +b(c-a)~+ Cla-b)
2X7- X I ©) be + ca + ab dbc ‘
— o
< Ab-ac thc—ab+ac—be _
abc -

Quotient = ) X+ | Remainder= — X — 2

(Continues on the reverse side)
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Solve each of the following inequalities and express the solu-
tion on a number line.
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222X+ ) __ 2%
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-
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Solve the following equation with respect to the unknown in-
dicated in [ ].
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b) [3x+2/ =5

® [3)
3IX42 S ~5 o 3Xt225

14
I

A group of people wants to create a team T-shirt for a sports festi-
val. The usual price for a T-shirt is 1,000 yen per T-shirt, but if you pay the
4,000 yen fee, the member’s price will be 850 yen per T-shirt. If you become

a member, how many T-shirts you must buy to make the total amount
cheaper.

Suppoos buging X T-shok

non membaen © 1000 (Yen)

memhor ;. Gocv + £SOL (en)
(000X > 4oo0+ £5D2

1§01 > 000
X > 26.66...

I‘f yw b“y 27 7-‘ SA'(/, vér oL,
mumbenr price becone cheapor,
IEI If a product is sold at 100 yen, it makes 800 sales a day and if the price

is increased, it is considered that sales will decrease by 100 per price in-

crease of 10 yen. Assuming that sales are linearly related to the price, what
is the selling price to maximize sales?

Suppre price o anereoded o« yen.
p/z,c',(,tf 00+ (Yyen)

Sades :  FoO —(0X |

aotal aades : ((004X) (800 ~/02)

= (06 (r004X)( 80 —Z)
= 0 (- X} —20X +8000)

—

= — 10 (X+10)" +flo00
mox st A =-—[0

mossam sodes b pries 40/@4





